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HX 39,977 86,431 41,182 45249
RIRET1T 6 15 9 6
RIRET2T 27 55 26 29
AIEET3T 183 595 289 306
RIRET4T 399 970 482 488
B 615 1,635 806 829
REH 2,677 6,020 2,799 3,221
L&A 4,348 9,504 4,410 5,094
BE 2,619 5,932 2,868 3,064
B AN 1,302 2,839 1,336 1,503
BERT 1,362 1,956 938 1,018
BER2T 765 1,393 672 721
BERST 562 1,299 618 681
B 2,689 4,648 2,228 2,420
BEXRE 275 658 321 337
= 2,215 5,014 2,378 2,636
hERE 641 1,427 657 770
e 2,485 5,130 2,475 2,655
25 L ET 2,339 5,112 2437 2,675
B &AL BT 76 154 63 91
HEFILET1T 564 1,201 567 634
HEFILET2T 619 1,298 607 691
HEZFILAT3T 647 1,476 728 748
g 1,906 4,129 1,965 2,164
B & it B Fr ET 685 1,578 763 815
BHEREBET1T 581 1,172 566 606
BHERERET2T 767 1,728 821 907
BHERERETST 776 1,593 720 873
BHERERET4T 517 965 458 507
HEKERETST 849 1,712 820 892
HEERET6T 889 1,930 937 993
BHERERET7T 874 1,834 906 928
HERERETST 68 210 102 108
5| 5321 11,144 5,330 5,814
HEF R FET 1,988 4,143 2,022 2,121
S|EFET1T 628 1,587 791 796
S|EFET2T 774 1,752 827 925
S|EFET3 T 742 1,393 645 748
g 2,144 4,732 2,263 2,469
ERE1T 580 1,327 636 691
EIRET2T 388 1,032 511 521
EREIST 508 1,330 652 678
EIRETAT 693 1,469 657 812
EIZEIST 543 1,119 578 541
g 2,712 6,277 3,034 3,243
ME A 2,901 6,297 2,995 3,302
J\THET1T 37 39 15 24
J\THET2T 26 60 30 30
J\THEI3T 52 113 50 63
B 115 212 95 117
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